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A. Derive a general expression for the angle of swing when the jet strikes a 
hinge plate. Draw a neat sketch for the explanation. 

B. Obtain an expression for the work done per second by water on the 
runner and the maximum efficiency of the Pelton wheel giving the 
relation between the jet speed and the speed of the bucket. Draw a neat 
sketch for the explanation. 

Attempt the following (each of 07 marks) 

A 150 mm diameter jet of water issuing from a nozzle strikes the buckets ofa 
Pelton wheel and the jet is deflected through an angle of 170 degrees by buckets. The head available at the nozzle is 400 m. Assuming the coefficient 
of velocity as 0.97, speed ratio 0.46 and 15% relative velocity loss while 
water passes over buckets find the forces exerted by the jet on the buckets in 
the tangential direction and the power developed. Draw the velocity diagram. 

Total Marks: 40 
Total Pages: 01 

A. A hydraulic crane is lifting a load of 1 1.772 kN through a height of 12 m 
with a speed of 0.3 m/s once in every two minutes. The crane is working 
under a pressure of 4905 kN/m' of water and has a efficiency of 65%o. 
The crane is fed from an accumulator to which water is supplied by a 
pump. Determine () Capacity of cylinder of the jigger (i) Capacity of 
accumulator and (iii) Minimum power required to drive the pump. 

*End of Question Paper 

B. With a neat sketch explain the working and construction of (i) Hlydraulic 
Coupling and (ii) Hydraulic Torque Converter. 
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